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When this s writtery as o decumal, a zero s wittery v the ONES column - as a
place vwalue holder.
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This number has 6 ones and O tenths.
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Remermber thats the, decimal, point separates the, whole number (ONES) from, the;
Iractional number (tenths).



SWOWMTWM@PWVWGM}L

O o tenths O ¢ tenths
0  OO0O0O0
6 ;000 0 ' 000

o tenths e tenths
| o CEEE
0000




S%mMm}Omwamiﬂm%&mw@Pb&ﬂwmmihd/

2.3

q.]

o000
000

C000
C000

b/

0.8



O e tenths
o0 |
- Q0
O e tenths
0000, 000
000 | OO
O e tenths
Q00O
Q00 ¢+ OO0
QOO

A&mdﬂdjnahﬂimmwmﬂjavﬂﬁ: .

There are ONES and.

As;ﬂ;df,cimnl;ﬂuﬁmmmttemaﬁz .

A&mdﬂdjnahﬂimmwmﬂjavﬂﬁ: .



O o tenths
000 0000
Q@00 [O0O0O

O o tenths

| 0@
Q0

As;ﬂ;dﬁcimahﬂuﬁamwlﬂ;ema& .

A&mdﬂd:nuhﬂuﬂlﬁwittervﬂﬁi .

6. 3.5

O

e tenths




7. 8.4

8. 2.7

Q. | ONE and 6 tenths

10. 5 ONES and 9 tenths
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Reasoning 2
Omwmukmg;u;numbﬂ\mthﬁplawmlu&chﬂr‘h
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There are 9 counters on the, Lefty of, the

decimal, point. Or the, right; of the
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e Ones 1 Tenths Ones + Tenths
. 100 0 0
Rosie OO
Q0O
QOO
OO
O
dropped, 4 o} her counters on the, floor. o | was
What, number could Layla hamve been, making? OO0

Carv yow find, alll 5 possible answers?
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O tenths

o0 ¢ 00
O tenths
0000, 000
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AﬂﬁWﬁf‘Sf

There are. & ONES and, 2 tenths.

As a decimal, this s witterv as: 4.2

There are. / ONES and 5 tenths.

As a decimal, this e writtery ast /.5

There: are. 3 ONES and, 9 tenths.

As a decimal, this s warittery as: 3.9
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There are 6 ONES and 8 tenths.

As a decimal, this is wwittery ast 6.8

There: are. O ONES and 4 tenths.

As a decimal, this is writterv as: 0.4
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8. 2.7

Q. | ONE and: 6 tenths

10. 5 ONES and 9 tenths



Reasoning |

Representation C is the: odd one out because it represents the decimal 5.1

The other three, representations, A, B and D, all, represent the, decimal, 6. |
Reasoning 2

Oscar has used 9 counters v the, ONES column. In the tenths column, he has
used: 4 - 2 = / counters.

Therefore, he has made the number 9.7

Reasoning 3

Amir and, Rosie have bothy made elesen tenths.

Rosie: has recorded, her number using || tenths counters.

Amﬂhu&nﬂﬁnedﬂwb|0taﬂiwi&uyﬂt&|whﬂl&H&hu&wdwng&d|Otamﬂm
Jor | whole and, recorded, his number as | whole and, | tenth.



Problem Solming |

Layla could hame made these numbers:

4.6 3.7 2.8 1.9 or %0 (which is | whole or 1.0)
Problem Solming 2

Using Jive counters, these numbers could, have been made:

5.0 4| 3.2 2.3 .4 or 0.5

These decimals are: shown by these number sentencest

5 ones + 0 tenths = 5.0 2 ones + 3 tenths = 2.3

& ores + | tenths = 4.1 | ones + & tenths - L4

3 ones + 2 tenths = 3.7 O ones +5 tenths = 0.5



P Solnming 3
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2.6



